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Ant

o ANT
% Java 7|Hio| HIE T2 M A K= £
% Eclipse= Ant 22{1¢21 7|2 L%

t
N ZYE =YY

“ Ant 4

N project: 2E B0, TENME M

= target oHoI- EHAEE X|X_|

Bl ’5.*%1 : EHﬁEL

= mkdir: C|HIEZ| AM

Copy, Delete : m}Ql/ CIHEE| EA}, ALK
Javac : AtH} ot Aol
jar :jar I MM
Javadoc : javadoc= ‘4-d



o Ant &FM & =M
% File>New>File

% build.xml L&

& xml I} AfEH

% buidml 25

[ <?xml wversion="1.0" encoding="UTF-8"7>

AH

o
S
T

S <project name="NufRE 2.1" default="junit-test" basedir=".">
<target name ="test" depends = "init, junit-test, Jjunit-test-report"/>
2 <target name="init"> ° 37H ol EH Ai — E
¢delete dir="5{basedir)}/TestAsport” gquiet="trus"/> —_— —_— O
<mkdir dir="5{bas=dir}/TestReport"/> _ T _I . |"‘|_(A|- .” _AH A—|)
</target> = E 7 2 — X o o

- JUnit Test =&l ( *Test.java)

L= <target name="junit-test" description="Runs JUnit Tests">

1= <junit printsummary="yes"> - JU nit Test Repo rt ACI.DI AC-)I
L= <classpath> e O
<pathelement location="§{basedir} /bin"/> (Xml ((D::)I EH, html _I'__A-I)
<pathelement location="junit-4.8.1.jar"/>
</classpath> WAL VUL WY LI |
<formatter type-
Run As v | H 1 Runon Server
<batc':11-;e5t fDIF D\E‘bug M ¥ %& 2 .Iﬂl.nt B-L”ld
<fileset di;
<includi Profile As v | B 3 Ant Build...
<f/fileserc> T ,
p eam . .
~ </batchtest> External Tools Configurations...
</junit> Compare With >
</target>
Replace With 3 |




B ZAHA|Z target ME Tts

g 1 FRunon Server
£ 2 Ant Build
# 3 Ant Build...

External Tools Configurations...

LRSI JaVEUIIL WIS
Run As k
Debug As 3
Profile As 3
Team k
Compare With 3
Replace With 3

fExX| B3~
(type filter text |

a4 3 Ant Build
| % MuSRS_2.1 buildxml|
s API Use Report

| QL Program

Mame: MusRS_2.1 build=ml

=] Main [rb;?f“ Refresh ﬂ@, Build @ Targets . . Claaapathj <@
Check targets to execute:

MName Descripticn

test

init

@& junit-. Runs JUnit Tests
@ junit-...




B ZAHA|Z target ME Tts

g 1 FRunon Server
£ 2 Ant Build
# 3 Ant Build...

External Tools Configurations...

LRSI JaVEUIIL WIS
Run As k
Debug As 3
Profile As 3
Team k
Compare With 3
Replace With 3

fExX| B3~
(type filter text |

a4 3 Ant Build
| % MuSRS_2.1 buildxml|
s API Use Report

| QL Program

Mame: MusRS_2.1 build=ml

=] Main [rb;?f“ Refresh ﬂ@, Build @ Targets . . Claaapathj <@
Check targets to execute:

MName Descripticn

test

init

@& junit-. Runs JUnit Tests
@ junit-...




Ant

e
< JUnit Report - Html 44 4

& & file://Dr/workspace/NusSRS_2.1/TestRepart/html/index htm| - B n
4 [ TestReport
4 ([Z3 html Home Unit Test Results.
[ [ |DgiC Packages Designed for use with JUnit and Ant.
[ [Z3 MUFTA logic
52 all-tests.html NUFTA Summary
'__".? aIIcIaa&e&—framE.htmI Tests Failures Errors Success rate Time
=2 alltests-errors.html = = - 48.48% 0.328
B alltests-fails.html MNote: failures are anticipated and checked for with assertions while errors are unanticipated.
55 index. html
. . Packages
[ overview-frame html 9
E; Dver'.riew-summar}r.html Name Tests Errors Failures Time(s) Time Stamp Host
E} stylesheet css Class logic.stringToLogicTest 18 0 10 0.133 2011-05- Wind
- B Name Tests Errors Failures Time(s) Time Stam, Host LTSS
el TESTS-TestSuites.xml =
- stringTologicTest 18 o 10 0.133 2011-05- Wind 15 1 6 0.195 2011-05- Wind
05T20:36:38 05T20:36:37
Tests
Name Status Type Time(s)
testStringToLogic Failure Not yet implemented 0.010
junit.Eramework .AssertionFailedError: Not yet
implemented —
ey e JFeature 2 C} 12 & A 0| X| G X|Dt
testSetSubElement Success 0.016

T 2 htmlS HiESH| 212

junit.framework.AssertionFailedError: Not yet
implemented

at logic.stringTolLogicTest.testDivideSub
(stringTologicTeat. java:76)

testConvertTruth Success 0.001
testRemoveNot Success 0.001
testRemowveBracket Success 0.000
testRemoveEnter Success 0.000
testMakeMember Success 0.001
testSetTruth Success 0.000

testCopyLM Success 0.001




Hudson

¢ Hudson
% Continuous Integration= 2|3t Java build X|& £+

Jal

E
—/ O
- gl2 2%
= 9l J|Ht UIZ ClientOAM BEO| AT EQO| MX| 2TQ
» SA O3 ZENME 2| 75
% J|s
g 7

= Source 2| ZZI1WE 0|8s}0] ¢
» X}= build (commit / A|ZF Z+A)
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Hudson

25 & EY
% hudson-ci.org Of A{ hudson.war r download
% java -jar hudsonwar 330 2 A
% 8080 portHz 2 £ Jts

Hudson [ searcr )

I ~TTTTT

& u=g N e e

V. Hudson ZH
= us2s

DHIZ: sML )
WE 1) 98 w2l EV2S 200 ol E) N Ohol E)OMISH W Gidd
4E W2 =20 S&LCkE

HC d3 M
# £HH
1| K2 &
2 &

5 w HE, H2 42 H2 AWM FH2 48 A2
Q CQ test 3 days 4 hr (£27) 3 days 4 hr (223) 2.3 sec @



Hudson

< Hudson 27

& an Manage Hudson
" Hudson 2]
o B Configure Svstem
ﬁ HEE \—% Configure global settings and paths.
BTl :
= e I JDK, Ant, Subversion2 7
2= 0N == |- 1DK installations  IDK
W= CH2 E=0] H=LICt MName |JDK1.E
WC M ME % JAVA HOME
2 A . — |C:"-.P'rn:rgrarr1 Files\lava'ydkl.6.0_24
1 0= .: Systemn Information
2 0= Displays various en' p
— Ant installations ANt
 Ant gxl J‘él_g_ - Name ant 1.82
Mx| 7 74
°
Exl OEE Cl:l = jE"P"I-I_—HC"I""IIE|II:':"l.Eu:rEu:hlE:-E|r1t-1.=3\.2

W Load Statistics
Check yvour resource
. Qoo

L Subwersion Workspace Version [ : :
° Ql _I?I_ x.' IO}_)I\_ g 7E:I 7|_3 § | 1.6 (svn:externals to file) [«

Subversion

e SuU bverS|On A—I H.l % Subwersion Revision Policy [Queue time [=]
% E|=|'I &! QE AEI %Ii rél _9. Exclusion revprop name |svn:ﬂkestern.iptime.urgf




Hudson

gc g 2=
e =0 f&Lch
= =H
# e
102 =
22 =

E

Hudsaon » Software

a& Back to Dashboard

O‘% Status
..:;} Changes

“ Waorkspace

@ Build Now

® Celete Project

@ Build a free-style software project
0l#12 Hudson? =2 S LICH Hudson2 = WE AAE0 HE SCMIEHE)2E SO0 YHY S 2HES YSF A0 1,
ADERMH HELCHCHE HE A0 A MEE = RsLCH

) Build a maven2/3 project
Mawven2/3 EEHNES WEEL|L Hudsen2 POM OIEY 0|E 2 A2 210 S35 282 ELLCL

) Monitor an external job
0 Y U2 A BHEHE Hudson 2IRHH SEGs S22 2 E &8s A2 SASELCL 2ZN 2HUAHM, JE
2 A= Mﬁ‘;‘!—l (WA E=ZM Hud=onE MEE = = 7l sLICH RHE 282 H2(E21E 2.

) Build multi-configuration project

Crzket ZaMMe BI=E, EHZ S 25, 2|E S5 HE U2 ME0E #2220 228 Z2HEN Hae.

LNEERE =

Post-build Actions

Copy from
[C] publish Javadoc

Build Triggers
O Aggregate downstream test results

[] Build after other projects are built
[T publish JUnit test result report

[Tl pall sCM .
‘chive= Fha meif s e
[ Build periodically ° E = XI- A u iI () b —_ S
= . = 3l =
Build |-‘—_"='b d_'_'“" —I—7|'7|o onl'o
I ke Ant [ ] _?_7 | I:é:' AN A O iild other projects
nvoke An —_—
. blish Cobertura Coverage Report
Ant Version t1.8 7:' OI i 7:| o !
an E o O | M- OT iblish testing tocls result report
Targets -
o OEI IC'>| OI_|- Al |7_|' —ch— 7| mail Notification

L Configure

|| Perform Subwversion tagging on successful build

Build File D:\workspace\NuSRS_2.14\build.xm|
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Requirement 1.
Generated Annotated FSM




Generate Fault Tree(FSM)

o _9___I.|.A|-O X_II- A

— — " = - - = - ey ey - ey ey -—

= !
III FilterForFSMTest java W B

Ca.. Sub Category Title T.. P.. M. Test Methods
FSM  Action Statem.. ZEEF SHIEH T=517 3 Mo NuFTAFilterForFSMTest testa_1
FSMW  Action Statem.. OREMIIE E2HAM Z=5tT 3 Mo MUFTA FilterForFSMTest testa_2
FSM  Action Statem... Value®} action statement? L x| o= H2 3 Mo MUFTA FilterForFSMTest testAi
FSM Transition Z2H0| 2X|TH= AMEfl== ORE W& 5™ 14+ LCH 3 Mo MUFTA FilterForFSMTest testB
FSM Transition £t AFEHE = transition0] 154 & CH 3 Mo MUFTA FilterForFSMTest testBi
FSM Transition annotated state at t@} transitions?} and= £ CICH 3 Mo MUFTA FilterForFSMTest testBi_OR
FSM Transition TransitionZ] & AFERAE 15 FICt 3 Mo MUFTA FilterForFSMTest testBilA
FSM Transition Transition@| condition®] 224 *CH 3 Mo MUFTA FilterForFSMTest testBilB
3

FSM  Transition o' e =g 9= 32/ Ao I Ji0} Mo NuUFTA FilterForFSMTest testBilB




Generate Fault Tree(FSM)

e

< SetUp ZE
% HAEO ArEot7| 9Tt 7ot HEfCS[ FSM

 I—

M FSM : Node 3, Transition 1

TestNodez, TestNode2
0 0

True:True
TestNode3,

- S S S . S . . .y
N
- . - e e e e



Generate Fault Tree(FSM)

“ SetUp I L&
W setUp &= Of Test A|ZHO| 25k = 2
B HAE MO, 29| AATAEZR FSM 4

EBefore
public wvoid =setlUp () throws Exception {
annotatedFSMNuSpec = new FSM("Test") ;
HuNode nodel = new HuNode ("TestHodel, O"):
[ (FEM) annotatedF5HMNuSpes) « addilode (nodel) ;
[ [FEM) annotatedFSMNuSpec) . addInput (nodel) ;
HuNode nodeZ = new HuNode ("TestHodeZ, 0"):
[ (F5M) annotatedF5HMNuSpeac)  addilode (node2) ;
HulNode node3 = new Nulode ("TestNode3,1™):
[ [FEM) annotatedFSMNuSpec) . addilode (node3) ;
FSMTransition tramnsitionl = new FSHMTIransition (nodel,node3)
transitionl.setCondition=s("true = true"):;
[ (FSM) annotatedFSMNuSpec) . addTransition (transitionl) ;

H

Eafrer

pobklic void tearDown() throws Exception {
Fi5ystem.out.println ("@After™) ;




Generate Fault Tree(FSM)

—
o ElAE?—”OlA IFA‘|

L T T ] - — =] [ e e 1 F r - I = r - -

ﬁ w ﬁq a nﬁ‘uJUmﬂ.JFeat] =)0 FilterForFSMTest java &3 requirements,jrq ] E
&l e~ .
" NUSRS_2.1 [NUSRS_2.1] - ' @Test
4 Eﬁsm public void testBilB() {
B m data N FilterForFS5M fsm = new FilterForFSM{) :

Treelode tr = fzm.filterForF5H {annotatedFSMNuSpec, "0", 0, mmll);
tr = tr.childTreelNode.get (0) ;
assertBEgquals(Z2,tr.childTreelode.size () )

i G data.checker
i i data.checker.parser

[ liby

EE’ logic TreeNode tr0 = tr.childTreeNode.get (0):
4 ‘Ba g TreeNode trl = tr.childTreeNode.get (1)
4 .fﬁ MUFTA

assertEgquals ("TestNodel, 0", tr0.lakel) ;
assertEquals ("TestHode?, 0", trl.label) ;

trl = trl0.childTreelNode.get (0} ;

TreeNode tr00 = trl0.childTreeNode.get (0)
TreeNode tr0l = trl0.childTreeNode.get (1) ;
assertEquals ("TestHodel, 0 at t ",tr00.lakbel);
assertEquals("transitions",tr0l.label) ;
assertBEgquals(tr00.childTreelNode.size () ,0);
assertEquals (tr0l.childTreelode.size (), 1)

i Af) FaultFramejava 2 11.5.|8
b [§) FaultlineModejava 2 11
b [4} FaultNeodejava 2 115,
b A0 FaultTreejava 2 11.5.4
i [F} FilterForFSM java 2 11. ¢
a [Jj FilterForFSmTest java 49
4 (@ FilterForFSMTest 40

a annotatedFSMNut

@ setlp( - void tr = tr0l.childTreelNode.get (0) ;

@ tearDown() : void assertEquals ("OR", tr.label) ;

@ testAd 10 - void tr00 = tr.childTreelNode.get (0):

@ testA 20 : void trl0l = tr.childTreelNode.get (1)

@ testail) - void assertEquals ("Enter the state via state transicion”,tr00.label):

@ testBO - void assertEquals ("Remain at the state because of disabled outgoing transition™,tril.
@ testBi]) - void assertEquals (tr00.childTreeNode.size (), 0);

o teBLOR) o oezrIEmALs px0 SaTresas e (), 1) !
@ testBilA( : void 4 m b




Generate Fault Tree(FSM)

e

¢ Junit AlH

(FE Package E:-cpl-:-rerJFeature} =g

|Finished after 0.066 seconds 1 4 g8 gﬁ| Q0w EH-"

Runs: 9/9 B Errors: O B Failures: 1

a ET_J MUFTA FilterForFSMTest [Runner: JUnit 4] (0.034 5)
gE] testA_1 (0.015 5)
gE] testA_2 (0.001 5)
g testAi (0.001 s)
g testB (0.001 5)
gE] testBi (0.001 s)
gl testBi_OR (0.010 s)
g testBilA (0.001 g)
g tastBilB (0.001 3)
gE] testBi2 (0.002 5

Failure Trace =|ZF

R
L=

org.junit.ComparisonFailure: expected: <[AMD]= but was:<[OR]=
at MuFTA FilterForFSMTest testBi_OR(FilterForFSMTest java:100)

.




Generate Fault Tree(FSM)

¢ JFeature AldH

Home

Requirement
Coverage Report Number of 0

Requirements

All Categories

FSM (50%)

= Unigque Test 8
Requirement Coverage Methods
Summary Bequirement-Tect |1:1

Missing Test None
Fm(2) [ ETONNETO vothods

All Requirements

S0t SHIEA TE71 (100%) Requirement Coverage Details
ORALTIZ |HM =017 (100%)
Valuekt action st... (100%) Sr# Coverage Item Coverage

Transition2| cond... {100%)

Ol Ao SREE R toowy | 1+ Acton Satement (3 o saww

Transition=| & & ... (100%) 2. |Transition (6)
sHE il HE2 Sls 2. (100%)

annotated state ... {0%)

Report generated on 2, 06 52 2011 01:48:06 KST

Powered By

JE JFeature




Generate Fault Tree(FSM)

s Commit

& Java - NuSRS_2.1/src/NuFTA/FilterForFSMTest java - Eclipse

Eile Edit Run Source Navigate Search Project Refactor Window Help

N-EHRQiIA I BAR -0  BHO- ML  PLeEEN B-Freoera- & (§7va) 7
| 8 Package Explorer 21?\\» = B (1) FilterForrsMjava | [ FilterForFsmTest jav 52 \_[3] NuscrEditor java | FsMjava | 1) FsMViewerjava |2 = B[ E Task List 2 X = 0|
— =7= GO OTE COMULAD (£ UL« Ghad AUE A NGO s TEET (T T 7 5 Wi e
B fb' [ TreeNode tr0 = tr.childTreeNode.get (0): e U | @% | e’ | X B | k|
‘J_"p‘J ex TreeNode trl = tr.childTreeNode.get(1); ﬁﬂnd éﬂ » All » Activate
{b% KonkukUnivSchedule assertEquals("TestNodel, 0", tr0.label); i= *GT' = i
23 NUSRS_2.1 [NUSRS_2.1] assertEquals ("TestNode2, 0", trl.label); % Uncategorized
8 src tr0 = trl.childTreeNode.get (0): @ Connect Mylyn 2
rtEqu "AND", tr. .
it data f/asscrtEaual S PRNIF pexdabel) Connect to your task and ALM tools.
.ﬂﬂ data.checker TreeNode tr00 = tr0.childTreeNode.get (0):; e
.ﬂ% data.checker.parser TreeNode tr0l1l = tr0.childTreeNode.get (1) EE outline [ 2 Properties 52 3 = |
% lib assertEquals("TestNode2,0 at t ",tr00.label); . e ?
& assertEquals("transitions”, tr01.1label); S° =3
legic
m NgFTA assertEquals(tr00.childTreeNode.size(),0): Property Value o
b e assertEquals(tr0l.childTreeNode.size(),1): — Info (|
“23 5 2 S tr = tr0l.childTreeNode.get (0); ‘= daved |G
> 4 9%
] msunce'?'o'XSd, 2k 15’,‘ =Y assertEquals ("OR",tr.label); e s
=) JRE System Library [JavaSE-1.6] [ £r00 = tr.childTreeNnde.cet (0) = OE: | ’ 2
=), Referenced Libraries < 1] » < 1, »
g ;:rr]slter‘i back (B Problems | @ Javadoc | 4 Search | B svN Repositories"l X[ BB 2B~ iy =0)
) SVN
& TeStReport HOaaoing Ui/adla/wWoIKSpAdCE/NUSOKS . 171011001l C.SLIinNgloLogiCcIesl . XIuL R
@ buildxml 34 11.5.5 2% 355 sy Transmitting file data ...
E9 junit-4.8.1jar 23 11.5.4 Transaction is out of date
[ Pase_Reqjrq36 11.5.5 2= 9 svn: Commit failed (details follow):
[} samplexml 3¢ 11.5.5 2= 10:24|sva: I '/NuSRS 2.1/TEST-data.checker.parser.TokenMgrErrorTest.xml' (0|)2} 2UEIREUICH
[y TEST-data.checker.parser.TokenMgrE
m TEST-logic.stringToLogicTestxml| 42 |update D:/data/workspace/NuSRS_2.1/TEST-data.checker.parser.TokenMgrErrorTest.xml -r HEAD --force
J,a TEST-NUFTA FilterForFSMTest xm| £ c D:/data/workspace/NuSRS 2.1/TEST-data.checker.parser.TokenMgrErrorTest.xml
15 org_kandroid_app_hangulkeyboard Ypdaced o seyiaion 3i.
& screencapture ==== Conflict Statistics: =———|
f’Z TreasureHunting File conflicts: 1
5 XML DOM commit -m "" D:/data/workspace/NuSRS_2.1/TEST-NuFTA.FilterForFSMTest.xml D:/data/workspace/NuSRS_2.1/TEST-data.checker.pars
- Adding D:/data/workspace/NuSRS 2.1/TEST-NuFTA.FilterForFSMTest.xml
/ / /NuSR. /TIE 'y
Sending D:/data/workspace/NuSRS 2.1/TEST-data.checker.parser.TokenMgrErrorTest.xml
Adding D:/data/workspace/NuSRS 2.1/TEST-logic.stringToLogicTest.xml
4 / / /
Transmitting file data ...
Committed revision 48. =




Generate Fault Tree(FSM)
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Unit Test "NuSRS”

Requirement 2.
Analyze Logic by expression




Analyze Logic by expression
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Analyze Logic by expression

“ logic.stringTolLogicjava

B Q2HIe Al BXtY s2 EJ| HWEZ Parsingdts It

public clas=s =ctringTologic {

public String fullString:

pubklic ArraylList<logicMember> lm = new ArraylList<logicMember>();
pubklic ArraylList<treeMember> tm = new ArrayList<treeMember>():;

/{ protected ArrayList<subList> s1

protected int numMNot=0;
protected int maxlevel=0;

= public stringTologic(String =)

L

J//logicHember setting
fullString = s5;
=2 = s.triml();
makeMember (s, 0,
setTruth () ;
removelot ()
removeBracket () ;
remowveEnter()
convertTruth() ;
setSubElement () ;

0):

J/{treeMember setting
copvLM () ;
setlevelwithPrioritcy () -
setlevelwithGate () 7
getMaxLewel () ;

setChild (0)
removeluplication() ;

new ArrayList<subList>():

AH A X|—Oﬂk| H 5} _T_||-I-I o)
o O -1 o T o

Parse_Reqgjrq &2
Require.. Category  Sub Category Title T.. Priority Must Have Test Methods Depe
R2_001 Parse logichMember makeMember 3 Mo logic stringToLogicTest testMakeMember
R2_002 Parse logicMember setTruth 3 No logic.stringToLogicTest testSetTruth
R2_003 Parse logicMember removeNot 3 No logic.stringToLegicTest testRemovelot
R2.004  Parse logicMember remaoveBracket 3 No logic.stringToLegicTest testRemoveBracket
R2005  Parse logicMember removeEnter 3 No logic.stringToLogicTest testRemoveEnter
R2_006 Parse logicMember convertTruth 3 Mo logic.stringToLogicTest testConvertTruth
R2_007 Parse logichMember setSubElement 3 Mo logic stringToLogicTest testSetSubElement
R2_008 Parse logichMember copyLM 3 Mo logic stringToLogicTest testCopyLM
R2.009  Parse treeMember setlevelwithPricrity 3 No logic.stringToLogicTest testSetLevelwithPricrity
R2_.010  Parse treeMember setlevelwithGate 3 No logic.stringToLogicTest testSetLevelwithGate
R2_011 Parse treeMember getMaxLevel 3 No logic.stringToLogicTest testGetMaxLevel
R2_012 Parse treeMember setChild 3 Mo logic.stringToLogicTest testSetChild

| R2_013 Parse treeMember removeDuplication 3 Mo logic.stringToLogicTest testRemoveDuplication




Analyze Logic by expression

oll) (f_SG1_LO_FLOW_Val_Out_ta -f SGa_LO_FLOW_Val_Out <=k_SG1_LO_FLOW_100ms_Rate) &
(f_SG1_LO_FLOW_Val_Out -k_SG1_LO_FLOW_Trip_Step >=k_SG1_LO_FLOW_SP_Lo_Lim) &
(f_SG1_LO_FLOW_Val_Out -k_SG1_LO_FLOW_Trip_Step <=k_SG1_LO_FLOW_SP_Hi_Lim)

Step 1. 222 ZUNCH: & L, (), | 2 LI+7| - makeMember
S AOILHOY| MAA|AHA T2 IAAS XA} - setTruth
 dets Hae2 MW7 20 L20|A ! A - removeNot
- removeBracket, removeEnter
Step 5. AALXHY| CHSl 12 =& - convertTruth
H HAXIE 7|&F=9 2 Lt - setSubElement
O 2 L}= - divideSub

f SGa_LO_FLOW_Val_Out_t1 / - /f_SG1_LO_FLOW_Val_Out | <=
k SG1_LO_FLOW_1o0o0ms_Rate / & /f SG1_LO_FLOW _Val _Out /-
k_SGi1_LO_FLOW_Trip_Step / S [k_SG1_LO_FLOW_SP_Lo_Lim) | &
f SG1_ LO_FLOW Val Out / - [k_SG1_LO_FLOW_Trip_Step | <=

k_SGi1_LO_FLOW_SP_Hi_Lim)




Analyze Logic by expression

< void makeMember(String input, int not, int level)
B A2 =AZ AEX &L (), | 2 L Array0f A&

ATest

public wvoid testMakeMember () {
STL.1lm.clear():
STL.makeMember (5TL.fullString, 0, 0):
int count = STL.fullString.lengtchi():
int index=0, level=0;
char ch;
boolean exp = false:
for({int i=0; i<count ; i++ )

i
ch = 5TL.full5tring.charit (i)
ifich== " ")
continne;
if( (ch=="&"') || (ch=="!") |lich=="("} |l(ch=="}"} || (ch=='‘\") )
{
if(ch == "(") level++;
if(ch==")"} level--;
assertEgquals| ch+"", 5TL.1lm.get (index) .element )
assertTruse| STL.1lm.get (index) .truth) ;
assertEquals( level, S5TL.1lm.get (index).lewvel);
index++;
exp=false:
lelsed
if (exp==fals=se) {
exp = true;
index++;
H
}
}




Analyze Logic by expression

*» void setTruth()
s U7F S OjXE QAE JA
B g3t 'I'o| =71 = 21H @ A= false
" assertFaIse assertTrue E A}

) ) ETest
f“‘l“gl‘member lm : this.lm) public void testSetTruth() {

1E({lm. numNot32)==1) for (logicMember 1m : STL.1m)
Im.truth = false; {
' if( (lm.numMlot32)==1)
gssertFalse (lm.truth) ;

el=se

assertTrue (lm. truth) ;




Analyze Logic by expression

*+ void removeNot()
A AT TE A
A ATV ENJFEE QAL

@Test
public vold testBRemovelNot () {
int count = S5TL.1lm.=2ize ()

for(int i=0; i<count; i++)
assertFalse (5TL. lm.get (i) .element.contains ("!") ),

X

*» void removeBracket()

* void removeEnter()
% removeNotl} & ot dtAlO = AHAAt
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*+ void convertTruth()
B QfO0| A setTruth a2 false2 HE Q@A(IE ZtEH @M=
trueE HZE & L|F AMKXE | A4t
B 0S| H2 falseZ7} EXSt= AAr
;ﬁiic void testConvertTruth() {
for (logicMember 1lm : STL.1lm)

assertTroe (lm. truth) ;

H

¢ void setSubElement()
B QA = HlW FHAXKH>=, >, <=, <, :=, 1=,=)7F QCHH
AMX} 7|Zo 2 Z} / 2 LHE0] divideSub g =3
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*+ void setSubElement()
B 24 F HW HAMXH(>=, >, <=, <, 0=, 1=,=)7) QUCHH
ALMX 7|22 Zt / 2 LIF0| divideSub &4 = 5
ALK X0 sign 2

ETest int count = S5TL2.fullString.length():
public void testSecSubElement () { int index=0;
char ch:
stringToLogic STL2 = new stringToLogic( STL.fullString): String sign;
STL2 .makeMember (STL.fullString, 0, 0); boolean exp = false;
STLZ .setTruthi) : for(int i=0; i<count ; i++ )
STLZ . removeMot () ; {
STLZ .removeBracket () ; ch = 5TLZ.1lm.toString() .charht (i)
S5TL2 .removeEnter () ; if(ch== " ")
S5TLZ2 .convertTruth(); contimme;
if{ (eh=='>") || (ch=='<'} ||(ch==":"} |]|(ch=="1") || (ch=='="} |}
i
if (5TLZ.fullString.charkt (i+l)=="=")
gign = ch+"=";
else

zign = ch+"";

assertEquals| sign, 5TL.lm.get (++index) .sign);
exp=false;
relsed
if (exp==false) {
exp = true;
index++;
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“ void copyLM()
B 20| M 4= Parsing o}0f Zh= logic EtRi=
childE 4t = tree E}Q O 2 E A}

ETe=t

public void testCopyLM() {
STL.tm.clear () ;
STL.copvLM () ;
int count = 5TL.1lm.s3ize ()
for(int i=0; i<count; i++)
i

assertEgquals (STL.1lm.get (1) .element, STL.tm.get (i) .element)

assertEquals (STL.1lm.get (i) .level, STL.tm.get (i) .lewel):

assertTrus (5STL.1lm.get (1) . truth) ;

assertEquals (STL.1lm.get (1) . leftSubElement, STL.tm.get (i) .leftSubElement) ;
assertEgquals (STL.1lm.get (1) .2ign, STIL.tm.get(i).=sign):
agssertEgquals (STL.1lm.get (1) .rightSubElement, STL.tm.get (i) .rightSubElement) ;
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¢ JFeature

Home

Requirement Coverage Report
All Categories

. Number of Requirements 13
parse (50%) Requirement Coverage Summary Unique Test Methods 13
’ Requirements:Test Methods Ratio 1:1
Parse (2) O ET issing Test Methods None
All Requirement Coverage Details
Requirements
Sr# Coverage Item Coverage
makeMember (100%) 1. logicMember (8) S spoew
setTruth (100%)
amovetor (100%) 2. weoenber 5 o swew
removeBracket (100%)

removeEnter (100%)
convertTruth (100%)
setSubElement (100%)

HAE ZIf & A7

- A EE Parsing6r04 o0 U= = L B HAE 2R(ET =)
HZEH Tree HEZ H3ISI= HAE 70
- ol3zte B XA Hi= MMIIOA 2E A
void HEHS| 42 OI5f HlAEH O~ X
HAEE giot ZE AdEE 2@
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